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𝑘2 +

16𝑘 + 64

 

NOMBRE: 
 CURSO:  

𝑨 = 𝒕𝟐 + 𝟕𝒕 + 𝟏𝟐 

𝒌𝟐 

64 𝟖𝒌 

𝟖𝒌 



 
 

 

 25𝑚2 − 100𝑚 + 100 =

 𝑓8 + 13𝑓4 + 42 =

 64𝑎2 − 16𝑎 − 15 =

 121𝑧6 − 108𝑧3 + 4 =

 𝑜4 − 9𝑜2 + 16 =

 9ℎ10 + 9ℎ5 − 4 =

 𝑐6 − 6𝑐3 + 9 =

 36𝑙2 − 12𝑙 + 1 =

 𝑑2 + 2𝑑 + 1 =

 𝑛2 − 21𝑛 − 72 =

 36𝑖4 + 90𝑖2 + 36 =

 25𝑥2 + 54𝑥𝑦 + 49𝑦2 =

ሺ5𝑚 − 10ሻ2 ൫𝑓4 + 6൯൫𝑓4 + 7൯ =

ሺ8𝑎 + 3ሻሺ8𝑎 − 5ሻ ൫11𝑧3 − 2൯
2

− 64𝑧3 

൫𝑜2 − 𝑜 − 4൯൫𝑜2 − 𝑜 − 4൯    ൫3ℎ5 − 1൯൫3ℎ5 + 1൯

ሺ6𝑙 − 1ሻ2  ൫3𝑐3 + 3൯൫3𝑐3 + 3൯

ሺ𝑑 + 1ሻ2 ሺ𝑛 − 24ሻሺ𝑛 + 3ሻ =

൫6𝑖2 + 12൯൫6𝑖2 + 3൯ ൫5𝑥 + 7𝑦൯
2

− 16𝑥𝑦 



 
 

 


